

CONFÉDÉRATION AFRICAINE DE FOOTBALL PRIZE MONEY GRID

1. TOTALENERGIES AFRICA CUP OF NATIONS

	Exco Decision on 18th November 2023			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)	
Winner	7,000,000	1	7,000,000	
Runner up	4,000,000	1	4,000,000	
Semi-finalist	2,500,000	2	5,000,000	
1/4 Finalists	1,300,000	4	5,200,000	
1/8 finalists	800,000	8	6,400,000	
3 rd of Group	700,000	2	1,400,000	
4 th of Group	500,000	6	3,000,000	
Total		24	32,000,000	



2. TOTALENERGIES AFRICA CUP OF NATIONS QUALIFIERS

Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)
1 st of the group	350,000	12	4,200,000
2 nd of the group	250,000	12	3,000,000
3 rd of the group	150,000	12	1,800,000
4 th of the group	120,000	10	1,200,000
Preliminary	60,000	5	300,000
Total		51	10,500,000

3. TOTALENERGIES CAF CHAMPIONS LEAGUE

	Exco Decision of 6th July 2022		
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)
Winner	4,000,000	1	4,000,000



Runner up	2,000,000	1	2,000,000
Semi-Finalists	1,200,000	2	2,400,000
Quarterfinalists	900,000	4	3,600,000
3 rd of Group	700,000	4	2,800,000
4 th of Group	700,000	4	2,800,000
Total		16	17,600,000

4. TOTALENERGIES CAF CONFEDERATIONS CUP

	6th July 2022 Exco Decision			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)	
Winner	2,000,000	1	2,000,000	
Runner up	1,000,000	1	1,000,000	
Semi-finalists	750,000	2	1,500,000	
Quarterfinalists	550,000	4	2,200,000	
3 rd of Group	400,000	4	1,600,000	
4 th of Group	400,000	4	1,600,000	
Total		16	9,900,000	



5. TOTALENERGIES AFRICAN NATIONS CHAMPIONSHIP

		Exco Decision- 2nd August 2022			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)		
Winner	2,000,000	1	2,000,000		
Runner up	800,000	1	800,000		
Semi Finalists	500,000	2	1,000,000		
Quarter Finalists	400,000	4	1,600,000		
2nd of Group of 3 Teams	300,000	2	600,000		
3 rd of Group of 4 Teams	300,000	3	900,000		
3rd of Group of 3 Teams	200,000	2	400,000		
4 th of Group of 4 Teams	200,000	3	600,000		
Total		18	7,900,000		



6. TOTALENERGIES U23 AFRICA CUP OF NATIONS

	Current Cycle			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)	
Winner	350,000	1	350,000	
Runner up	250,000	1	250,000	
Semi Finalists	175,000	2	350,000	
3 rd of Group	150,000	2	300,000	
4 th of Group	100,000	2	200,000	
Total		8	1,450,000	

7. TOTALENERGIES U20 AFRICA CUP OF NATIONS



	Current Cycle			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)	
Winner	200,000	1	200,000	
Runner up	150,000	1	150,000	
Semi Finalists	120,000	2	120,000	
Quarterfinalists	90,000	4	90,000	
3 rd of Group	75,000	1	75,000	
4 th of Group	50,000	3	50,000	
Total		12	1,175,000	

8. TOTALENERGIES U17 AFRICA CUP OF NATIONS



	Current Cycle			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)	
Winner	125,000	1	125,000	
Runner up	90,000	1	90,000	
Semi Finalists	60,000	2	120,000	
Quarterfinalists	50,000	4	200,000	
3 rd of Group	25,000	1	25,000	
4 th of Group	20,000	3	60,000	
Total		12	1,175,000	

9. TOTALENERGIES WOMEN'S AFRICA CUP OF NATIONS

Exco Decision on 29th June 2022



Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)
Winner	500,000	1	500,000
Runner up	300,000	1	300,000
Semi-Finalists	225,000	2	450,000
Quarterfinalists	180,000	4	720,000
3 rd of Group	130,000	1	130,000
4 th of Group	100,000	3	300,000
Total		12	2,400,000

10. CAF WOMEN'S CHAMPIONS LEAGUE



		Exco Decision on 6th July 2022			
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)		
Winner	400,000	1	400,000		
Runner up	250,000	1	250,000		
Semi-finalists	200,000	2	400,000		
3 rd of Group	150,000	2	300,000		
4th of the group	100,000	2	200,000		
Total		8	1,550,000		

11. TOTALENERGIES CAF SUPER CUP



	Exco Decision On 15 th August 2023		
Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)
Winner	500,000	1	500,000
Runner up	250,000	1	250,000
Total		2	750,000

12. AFRICAN FOOTBALL LEAGUE

Ranking	Prize Money Per Team Ranking (\$)	Teams	Total Prize Money (\$)
Winner	4,000,000	1	4,000,000
Runner up	3,000,000	1	3,000,000
Semi-finalist	1,700,000	2	3,400,000
Quarterfinalists	1,000,000	4	4,000,000
Total		8	14,400,000